et EXO0

X4 ERHPEERREGRER/NEE ZHRESHETIE-BR: 3F (KK1EE:3F->3F)

PNA21-01-+#&f2: 3F, #4t5%: ST1, (B F4%: 2 [X2:-181,Y1:-30] , #E: 150 cm, #kE: 14.62, fF: 26, BH 84 13,

& 387.7716 cm

R E: 387.77=RR55%(14.62*14.62+26*26)*[FE24]13

#5 LimiR - B M #5 FiniREh-EREE M= (387 77++[{BERELJ)46*2) [HEE] | 76.76
S (Int(150/10)+1)/100= 76.76 M

#5 LURBAR- R R R #5 L mEk - SRR M R = (B8 (RIS (150 +[E B+ E 8L dh 48.84
| +A1](16+21.9)*1)*[HEEK](Int((387.7716/15)+1)/100= 48.84 M

#5 TlfiRe-EEERE | (387.77++[{BHREL46*2) S (Int(150/10)+1)/100 76.76

#5 yotyR 3= ok [EE A1 (150 +[FE R+ 4L dh+A1](16+21.9)*1)* 48.84
| [HEB(Int((387.7716/15)+1)/100= 48.84 M

BiREE:

TR (EEHE) = 387.77*150/10000= 5.82 M2
IR (3I4E) = 150*14.62*13/10000= 2.85 M2
AR (181381 858)= 387.77*25%1/10000= 0.97 M2
TR (B545 B8 - 3 B 38) = (14.62*26/2)*13*1/10000= 0.25 M2
R /NET = 5.82+2.85+0.97+0.25+0.00= 9.88 M2
RC:tH&E:
RC(#1kR) = 387.7716*150%25/1000000= 1.454 M3
RC(B##) = (14.62*26/2)*150*13/1000000= 0.371 M3
RC /et = 1.454+0.371+0.000= 1.825 M3
-------------- R R 0] N ——
Mt EHER:
#5=251.211 M (251.211 M*1.560/1000= 0.3919 T)
MAR/NET =0.3919 T
BAR/NET(E )= 9.88 M2
Estt/NEF =1.825 M3

PNA21-01-#&f2: 3F, #4X5%: ST1, IBRFEHE: 1 [X2:-207,Y1:-210] , #8E: 150 cm, #kE: 14.62, #iFE: 26, ¥4 8 13,

¥ 387.7716 cm
SRR 387.77=RH4R5%(14.62*14.62+26*26 )[R 24]13

#5 LiniRr-EEER R #5 LR Eh-E B g M A = (387.77++[{BIF RELJ)46*2) B8] | 76.76
= (Int(150/10)+1)/100= 76.76 M

#5 LGk R #5 ik h- EE R R B = [ (A5 HE](150+[E R+ E #hLdh 48.84
| +A1](16+21.9)*1)*[HEEK](Int((387.7716/15)+1)/100= 48.84 M

#5 TR - E R E (387.77++[#EFF R ELd]46*2)*[BEE](Int(150/10)+1)/100 76.76

#5 TRk h-E E e m R [EE {RI 3 48] (1 50+ [E R +E $Ldh+A1](16+21.9)*1)* 48.84
| [HEB](Int((387.7716/15)+1)/100= 48.84 M

EIRETE:

TR (EEHE) = 387.77*150/10000= 5.82 M2
IR (3I4E) = 150*14.62*13/10000= 2.85 M2
AR (181381 858)= 387.77*25%1/10000= 0.97 M2
TR (B545 0138 -$ B 58) = (14.62*26/2)*13*1/10000= 0.25 M2
R /e = 5.82+2.85+0.97+0.25+0.00= 9.88 M2
RC:tH&E:
RC($#1kR) = 387.7716*150%25/1000000= 1.454 M3
RC(F#) = (14.62*26/2)*150%13/1000000= 0.371 M3
RC /et = 1.454+0.371+0.000= 1.825 M3
-------------- H R K9] N —

Page 1/4



St ERER:
#5=251.211 M (251.211 M*1.560/1000= 0.3919 T)
MAR/NET = 03919 T
HBAR/NET(E )= 9.88 M2
R /NET = 1.825 M3

PNA21-01-#28: 3F, #4X5%: ST2, L& F5: 6 [X8:-67,Y8:-170] , #E: 175 cm, #i&: 15.2, #E

¥E: 361.4052 cm
BRI E: 361.41=FA4R %% (15.2*15.2+26*26)* [ £4]12

: 26, IS E: 12,

#5 LimiRA-EREERE #5 LRS- E B E R A= (361.41++[{BIFRELJ46%2) [HE8X] | 68.01
— (Int(175/12)+1)/100= 68.01 M

#5 LimBhm-E R M #5 L i BARH-EE B ) 2= [ER AN (1 75+ R+ E ELdh 53.21
] +A1](16+21.9)*1)*[# §£Z](Int((361 .4052/15)+1)/100= 53.21 M

#5 TimiRf-EREmE (361.41++[iBHE R FELd]46*2)* [HE & (Int(175/12)+1)/100 68.01

#5 TUhB-EEEmE [EE (A 8] (175+[ R+ & $0Ldh+A1](16+21.9)*1)* 53.21
| [HE4](Int((361.4052/15)+1)/100= 53.21 M

BWhRETEH:

¥ hR(EHE) = 361.41*175/10000= 6.32 M2
R (IL4E) = 175*15.2%12/10000= 3.19 M2
1R RR (1832 -£1 B i%)= 361.41*20%1/10000= 0.72 M2

B hR (B4 1325 B 58) = (15.2*26/2)*12%1/10000= 0.24 M2

R /INET = 6.32+3.19+0.72+0.24+0.00= 10.48 M2
RCEtHE:
RC(41hR) = 361.4052*175*20/1000000= 1.265 M3
RC(B&#8) = (15.2*26/2)*175%12/1000000= 0.415 M3
RC_/Ist = 1.265+0.415+0.000= 1.680 M3
-------------- HEHE RN
At EHER:
#5=242.449 M (242.449 M*1.560/1000= 0.3782 T)
$MAR/NET = 0.3782 T
BRR/NET ()= 10.48 M2
B /e = 1.680 M3

PNA21-01-4#88: 3F, #X5%: ST2, SIERF3%: 5 [X7:-75,Y8:-83] , #&: 175 cm, #k&: 15.2, #iR

£:391.5224 cm
AR 391.52=FA185%(15.2*15.2+26*26)*[FE%4]13

126, BXL B 13, 1

#5 LinRE- R m R #5 LiniRAh-EEE M A= (301.52++[{BIF RELA)46%2) [HE8] | 7253
EE—— (Int(175/12)+1)/100= 72.53 M

#5 LinghE-EREER R #5 L ihBAA-EE B EE e 2= (BRI NE](175+ [+ E faLdh 57.47
) +A1](16+21.9)*1)[HEE](Int((391.5224/15)+1)/100= 57.47 M

#5 TimiRe-EEER R (391.52++[{EFF R ELd]46*2)* [HEE(Int(175/12)+1)/100 72.53

#5 TinEhE-EREER R (BRI AE] (17 5+ [T i+ B #Ldh+A1](16+21.9)*1)* 57.47
| [HEB](Int((391.5224/15)+1)/100= 57.47 M

EhREtE:

R (EHE) = 391.52*175/10000= 6.85 M2
R (3I4E) = 175%15.2*13/10000= 3.46 M2
bR (1RI138-$1 838 )= 391.52*20*1/10000= 0.78 M2

R (B Bi2- 1 832 ) = (15.2%26/2)*13*1/10000= 0.26 M2

EhR_/NEt = 6.85+3.46+0.78+0.26+0.00= 11.35 M2
RCEH&E:

RC(#}kR) = 391.5224*175*20/1000000= 1.370 M3

RC(F&#) = (15.2*26/2)*175*13/1000000= 0.450 M3

RC_/IM&t = 1.370+0.450+0.000= 1.820 M3
-------------- FHEHE RN
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St ERER:
#5=259.998 M (259.998 M*1.560/1000= 0.4056 T)
$ARR/INET =0.4056 T
BAR/NVET ()= 11.35 M2
SRR /NET = 1.820 M3

PNA21-01-#&f2: 3F, #i1t5%: ST1, KiBFEaE: 4 [X7:+119,Y16:+573] , #E: 187.5 cm, f&k=: 15.2, #k;E: 26, S &
12, #£: 361.4052 cm
BRI E: 361.41=F4R5%(15.2*15.2+26*26)* [ 84]12

#5 LGS - R m T #5 Linigmp-EEEmE = (361.41++[{BRRELJ46*2)" [HEEk] | 86.15
— (Int(187.5/10)+1)/100= 86.15 M

#5 LB -EEE R E #5 LiREhER-EE § Fi= [EE (AN (187 .5+ [+ & $aLdh 56.34
] +A1](16+21.9)*1)*[# §£Z](Int((361 .4052/15)+1)/100= 56.34 M

#5 TimfR - EEEmI (361.41++[1BHF R EELA]46*2)*[HE2R](Int(187.5/10)+1)/100 86.15

#5 TihEk - EEEmE [BE{BI4E 5] (187 5+ +EE $Ldh+A1](16+21.9)*1)* 56.34
| [BE2R](Int((361.4052/15)+1)/100= 56.34 M

BhRETE:

R (E4E) = 361.41*187.5/10000= 6.78 M2
¥RR(3I48) = 187.5*15.2*12/10000= 3.42 M2
R R (1R1:28- 1 858)= 361.41*25%1/10000= 0.90 M2
WERR (B 45 B2 - 31 B 38) = (15.2*26/2)*12*1/10000= 0.24 M2
¥R _/INET = 6.78+3.42+0.90+0.24+0.00= 11.34 M2
RCEtHE:
RC(41hR) = 361.4052*187.5*25/1000000= 1.694 M3
RC(F#8) = (15.2*26/2)*187.5*12/1000000= 0.445 M3
RC_/Ist = 1.694+0.445+0.000= 2.139 M3
-------------- HEHE RN
At EHER:
#5=284.971 M (284.971 M*1.560/1000= 0.4446 T)
SMAR/INET = 04446 T
ARG ()= 11.34 M2
R /NGt = 2.139 M3

PNA21-01-#82: 3F, ¥4t 5%: ST1, GLBRF5E: 3 [X6:-194,Y16:+612] , #AE: 187.5 cm, k& 15.2, #&E: 26, BH 2
13, ¥ 391.5224 cm
AR 391.52=FA185%(15.2*15.2+26*26)*[FE%4]13

#5 LiniRE-EEE R A #5 Linigir-E B R = (301.52++ 1B RELJ)46*2) [HF8k] | 91.87
— (Int(187.5/10)+1)/100= 91.87 M

#5 LR -EEEN R #5 LimBhEn-EEE m A= (B AR (187 .5+ [+ E fLdh 60.85
| +A1](16+21.9)*1)*[HEER](Int((391.5224/15)+1)/100= 60.85 M

#5 TimiRm-EEER R (391.52++[{EHF R ELJ|46*2)*[HEER](Int(187.5/10)+1)/100 91.87

#5 TihEhm-EEEm R [EERI$E 5] (187 .5+ +EE$ALAN+A1](16+21.9)*1)* 60.85
| [HE22](Int((391.5224/15)+1)/100= 60.85 M

RIRETE:

R (EHE) = 391.52*187.5/10000= 7.34 M2
HRR(3I48) = 187.5*15.2*13/10000= 3.71 M2
bR (1RI138-$1 838 )= 391.52*25*1/10000= 0.98 M2
AR (B BI38- 51 3838) = (15.2%26/2)*13*1/10000= 0.26 M2
R _/INET = 7.34+3.71+0.98+0.26+0.00= 12.28 M2
RCEtHE:
RC(#1hR) = 391.5224*187.5*25/1000000= 1.835 M3
RC(F&#8) = (15.2*26/2)*187.5*13/1000000= 0.482 M3
RC_/Ist = 1.835+0.482+0.000= 2.317 M3
-------------- FHEHE RN
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St ERER:
#5=305.430 M (305.430 M*1.560/1000= 0.4765 T)
ARR/INET = 04765 T
BAR/NET ()= 12.28 M2
SR NET = 2.317 M3
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